Year 4 Arithmetic Test 5 teStbase

4x11=

1 mark
60-6-6=

1 mark
5600 - 1000 =

1 mark
E5x1=

1 mark
8x3=

1 mark
63+9+9=

1 mark
76 x 0 =

1 mark
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Year 4 Arithmetic Test 5 teStbase

28+7=

1 mark
? 4+ 250 = 800

1 mark
4200 + 900 =

1 mark
7%xX6=

1 mark
9x7=

1 mark
740 - ? =320

1 mark
6 2 _
7 7

1 mark
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Year 4 Arithmetic Test 5 teStbase

8014

+ 1849

1 mark
5050 - 250 =

1 mark
3 4
— 4 — =
5 5

1 mark
48 - 4 =

1 mark
64 + 8=

1 mark
3x4x6=

1 mark
132 +12 =

1 mark
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Year 4 Arithmetic Test 5 teStbase

43
x 9
1 mark
Exex5=
1 mark
213
X 4
1 mark
5555
+ 4466
1 mark
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